

$\mathbb{K}$  abs field

$$\sum_n a_n \xrightarrow{\text{summ}} \Rightarrow {}^n \downarrow a = \sum_m^n a_m \rightsquigarrow \Leftrightarrow \bigwedge_{\varepsilon} \bigvee_{\substack{> 0 \\ \mathbb{N}}} \bigvee_m \overline{\sum_n^m a_n} \leq \varepsilon$$

$$\sum_n a_n \xrightarrow{\text{Cau}} \Leftrightarrow \bigwedge_{\varepsilon} \bigvee_{\substack{> 0 \\ \mathbb{N}}} \bigwedge_{\substack{\geq n_0 \\ q > p}} \overline{\sum_n^{q-p} a} = \overline{\sum_n^{q-p} a_n} \leq \varepsilon$$

$$\sum_n^{q-p} a_n = {}^q \downarrow a - {}^p \downarrow a$$

$$\text{Add-Rule } \sum_n \overline{a_n + b_n} = \sum_n a_n + \sum_n b_n$$

$$\text{Mult-Rule } \sum_n \alpha a_n = \alpha \sum_n a_n$$

$$\text{Lin-Rule } \sum_n \overline{\alpha a_n + \beta b_n} = \alpha \sum_n a_n + \beta \sum_n b_n$$

$$\sum_n a_n \xrightarrow[\text{test}]{\text{triv}} a_n \rightsquigarrow 0$$

$$a_n = {}^{n+1} \downarrow a - {}^n \downarrow a \rightsquigarrow s - s = 0$$

$$\sum_n \overline{a_n} < \infty \xrightarrow{\text{abs summ}} \sum_n a_n \Rightarrow$$

$$\sum_n \overline{a_n} < \infty \Rightarrow \bigwedge_{\varepsilon} \bigvee_{\substack{> 0 \\ \mathbb{N}}} \bigwedge_{\substack{\geq n_0 \\ q > p}} \sum_n^{q-p} \overline{a_n} \leq \varepsilon \Rightarrow \overline{\sum_n^{q-p} a_n} \leq \sum_n^{q-p} \overline{a_n} \leq \varepsilon$$

$$\lim_{\underline{}} \frac{\overline{a_{n+1}}}{a_n} < 1 \Rightarrow \sum_n^{\mathbb{N}} \overline{a_n} < \infty \text{ abs summ}$$

$$1 > \lim_{\underline{}} \frac{\overline{a_{n+1}}}{a_n} \checkmark \underset{\geq m}{\bigwedge}_n \frac{\overline{a_{n+1}}}{a_n} \xrightarrow[\text{Rule}]{\text{Pos}} \bigvee_m^{\mathbb{N}} b = \underset{\geq m}{\bigwedge}_n \frac{\overline{a_{n+1}}}{a_n} < 1 \Rightarrow \bigwedge_n^{\geq m} \frac{\overline{a_{n+1}}}{a_n} \leq b$$

$$\Rightarrow \bigwedge_n^{\geq m} \frac{\overline{a_n}}{\overline{a_m}} = \frac{\overline{a_n \dots a_{m+1}}}{\overline{a_{n-1} \dots a_m}} \leq b^{n-m} = b^n / b^m$$

$$\bigwedge_{\varepsilon}^{> 0} \bigvee_{\ell}^{\geq 0} b^{\ell} \leq \varepsilon \frac{1-b}{\overline{a_m}}$$

$$\Rightarrow \bigwedge_{q > p}^{\geq m+\ell} \frac{b^m}{\overline{a_m}} \sum_n^{q-p} \overline{a_n} \leq \sum_n^{q-p} b^n = \sum_n^q b^n - \sum_n^p b^n = \frac{1-b^q}{1-b} - \frac{1-b^p}{1-b} = \frac{b^p - b^q}{1-b} \leq \frac{b^p}{1-b} \leq \frac{b^{m+\ell}}{1-b} \leq \frac{\varepsilon b^m}{\overline{a_m}}$$

$$\Rightarrow \sum_n^{q-p} \overline{a_n} \leq \varepsilon \Rightarrow \sum_n^{\mathbb{N}} \overline{a_n} \text{ Cau}$$

$$\lim_{\underline{}} \frac{\overline{a_{n+1}}}{a_n} > 1 \Rightarrow \sum_n^{\mathbb{N}} a_n \text{ not summ}$$

$$1 < a = \lim_{\underline{}} \frac{\overline{a_{n+1}}}{a_n} \rightsquigarrow \underset{\geq m}{\bigwedge}_n \frac{\overline{a_{n+1}}}{a_n} \xrightarrow[\text{Rule}]{\text{Pos}} \bigvee_k^{\mathbb{N}} \underset{\geq k}{\bigwedge}_n \frac{\overline{a_{n+1}}}{a_n} \geq 1$$

$$\Rightarrow \bigwedge_n^{\geq k} \frac{\overline{a_{n+1}}}{a_n} \geq 1 \Rightarrow \overline{a_n} \geq \overline{a_k} > 0 \Rightarrow a_n \not\rightarrow 0 \xrightarrow[\text{test}]{\text{triv}} \sum_n^{\mathbb{N}} a_n \text{ not summ}$$